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main {

int a,b,c,



cout<’enter number:’;

cin>>a,b,c;

cout<”jame="<<a+b+c;

}

cout<<2+4/2*4-3;

#include <iostream»
using namespace std;

main()

I

L
int a= 3;
if(a»3)

cout<<"a"<<a;
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#include <iostream:
using namespace std;
main()

int p=3,r;

cout<<"r ra vard konid:";

Cinx»rj
cout<<"mohit="<<....
cout<<"\nmasahat="+<¢
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#include <iostream:
using namespace stdj
main( )
int a,b;
cinxxa»xh;
a=a+h;
b=a-b;
a=a-b;
cout<<a<<h;
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Please enter id:

Please enter birth:
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You’'re id code is: ...uuuuereeeneennennnes You’r birth is: .....c.eeeeeeenenns User name is: ....cccceveeveennnnes
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#include <iostream>
using namespace std;
int main()
=K
int id, b, yekan,dahgan,user;
cout<<"Please gnter id:";
cin>>id;
cout<<"Please enter birth:";
cin>>b;
yekan=1d%10;
dahgan=b/10%10;
user=(yekan+dahgan) *100;
cout<<"\nyon're id gode 1lg:"<<id<<™ You'r birth ls:"<<b<<"User name ls:"<<user;
!

& "D:Atamrin haftomimesall\bin\Debug\mesall. exe" = || =] 3

Please enter id:123456789
Pleaze enter hirth:1388

m | »

IBvoufre id code is:123456789 Youffr birth is:1388Us§1~ name is:17688

j@FProcess returned B (BxB> execution time : 15.343 =
Press any key to continue. -
» | 63 Debugger | /| DoxyBlocks
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#include <iostream>

using namespace std;

main()
=k B "Dedvtamrin haftom\mesal2\bin\Debugimesal2. exe”
z . Enter birth:1365
int b; gellu Eeacilei-jéé
<" =] i 2. nter hirth:
C?llt Enter birth ! Code meli eshtebhah ast...
cin>>hb; Process returned B (@x@A)> execution time : 4.

Prezs any key to continue.

if (b>=1380)
cout<<"Hello student...":
if (b>=13¢0)
if (b<13380)
cout<<"Hello Leacher...";
if (b<13€0)
cout<<"Hello Rish sefid...":
int yekan,dahgan;
cout<<"\nEnter bhirth:":
cin>>b;
yekan=b%10;
dahgan=b/10%10;
if (yekan==dahgan)
cout<<"Code mell gshiebah ast...";
}
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#include <iostream>
using namespace std;
main ()

1

int b, roz,mah, saat, ramz;:

cout<<"\nEnter birth:": # | "DAtamrin haftom'\mesal2\bin\Debugimesal?.exe"
cin>>b;
Lo Enter hirth:1388
roz=b*3&5; Paszword=12682156
R Process preturned B <BxB@> execution time
mah=b*12; Press any key to continue.

saat=roz*24;

ramz=roz+mah+saat;
cout<<"Pagsword="<<ramz;
i




